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1 ��ห�ผลคูณและเติมคำ�ตอบ

1� 1.2�✕�10 =
1.2�✕�100 =
1.2�✕�1000 =

1.2�คูณดวยจำ�นวนใดไดผลคูณ�เปนจำ�นวนนับ

2� 0.43�✕�10 =
0.43�✕�100 =
0.43�✕�1000 =

0.43�คูณดวยจำ�นวนใดไดผลคูณ�เปนจำ�นวนนับ

3� 2.005�✕�10 =
2.005�✕�100 =
2.005�✕�1000 =

2.005�คูณดวยจำ�นวนใดไดผลคูณ�เปนจำ�นวนนับ

แบบฝกหัด�2.12



6 4 0
9751 2
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2 ��เติมตัวเลขแสดงจำ�นวนใน��

1� 4.5��✕��� ��=� 45� 2� 12.08��✕��� ���=�1,208�

3� ��✕��9.8��=��9,800� 4� ��✕��0.567��=� 567�

5� 0.563��✕��� ��=�5.630� 6� 1.502��✕��� ��=�150.2�

7� �✕��1.243�=� 1,243� 8� ���✕��0.2� =� 200

9� 1.5��✕��� ��=��15.0� 10� 0.07��✕��� ��=��70�


